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Sampling error 

The difference between statistic and parameter

ത𝑦 − 𝜇
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Sampling distribution 

Distribution of our statistic from multiple samples

መ𝑓(ത𝑦)
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WHAT IS THE MEAN HEIGHT OF AN

ADULT IN THE NHANES DATASET?

• Population: Adults in the NHANES dataset

• Mean height: μ = 168.9

• Standard deviation: σ = 10.1

(Assume we do not know this)
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ത𝑦 = 165.33

Sampling error:
ത𝑦 − 𝜇 =             

165.33 − 168.9 = −3.57
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Sample size 10
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Sample size 10

Sample size 50
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Mean Standard 
deviation

Population 168.9 10.1

ത𝑦10 168.9 3.21

ത𝑦50 168.9 1.45

𝑆𝐷 ത𝑌𝑛 =
𝜎

𝑛



TECH3

TECH3

Sondre Hølleland 

Geir Drage Berentsen


	Slide 1: Sampling error and distribution
	Slide 2
	Slide 3
	Slide 4: What is the mean height of an adult in the NHANES dataset?
	Slide 5
	Slide 6
	Slide 7
	Slide 8
	Slide 9
	Slide 10
	Slide 11
	Slide 12
	Slide 13
	Slide 14

